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M.Com. (Previous/Final) Examination, 2020

Note

COMMERCE
Group (A), Optional
(Accounting for Managerial Decision)
Time Allowed : Three Hours
Maximum Marks : 100

Minimum Pass Marks : 36

TN U T & IR AT YD SHE T TH YT
AT a2 9 v F 3 99H 2

: Attempt all five questions. One question from

each unit is compulsory. All questions carry equal
marks.
gbis-I / UNIT-I

TSRO EaYy ¥ 39 @ wwed @ 2 fa
e I8 59 yer i & ? yeeeig crarfafyr
& T@ BE H quE il 15
What do you understand by Management
Accounting ? How does it differ from financial
accounting? Discuss main functions of

management accounting.

I'1218 PITIOI

(2)
31gar OR

“RIFFARUT I U6 fJdie U iigiadr & faua
@ g1 fadeen sl

“Transfer pricing has been a widely debated and
contested topic”. Discuss.

gprs-1II / UNIT-II

Q2 UF W B fpoRiear & A wR R
JReTa & ANG §ofc 1 JBR o 15
The monthly budget for manufacturing overhead
of a concern for two levels of activity were as
follows :
&HdT (Capacity) 60%  100%
golc 3dTEA  (SHISAN)
(Budgeted production (units)) 600 1,000
TGl (Wages) 1,200 2,000
39S R (Consumable stores) 900 1,500
@Y1 (Maintenance) 1,100 1,500
oifdT vd 389 (Power & fuel) 1,600 2,000
2T (Depreciation) 4,000 4,000
§MT (Insurance) 1,000 1,000

9,800 12,000
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(3)
MU qdHT & :

(31 @ [ we R, uRadweia wd smRadena
&

(§) 80% &WaT W Forc 3R

(|) 60%, 80% TAT 100% &Wal W UI bR ol
ot uRe

You are required :

(a) Indicate which of the items are fixed, variable
and semi-variable

(b) Prepare a budget for 80% capacity; and

(c) Find the total manufacturing overhead per
unit of output at 60%, 80% and 100%
capacity.

31gar OR

T TN ORITT d9T @ ? 37T 39 §ofexl NuT

J B i &2

What is standard costing and how would you

distinguish it from budgetary control ?
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(4)
gpie-III / UNIT-III
e fofdi § S e /B & o e
39N Bl gdRe| 15
State some of the important applications of
marginal costing for managerial decisions.
31gar OR
franr for. & Gafa 2014-15 & W 9 TR €
The data related to Priya Ltd. for the year 2014-15
are as follows :
g BEE feda eARl

(First 6 month) (Last 6 month)
fapa (Sales) 4,50,000 5,00,000
P @I (Total cost) 4,00,000 4,30,000
g AHd ge fo R = ol af & @ wu @
for s &, 2014-15 af & foe worm Sifsw -
Calculate the following for the year 2014-15
assuming that fixed expenses incured were

uniform in both half years :
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Q. 4.

(3)
(31) @Y-\TEAT 3guid (P/V ratio)

(§) ferR @m@ (Fixed cost)
(9) 9¥-fawse fo=g (Break-even point)
(T) JRa&m [W1 B e (Percentage of margin

of safety)
(7) 50,000 X @19 & forw 3w fawr

(Sales required to earn a profit of ¥ 50,000)

gBrs-IV / UNIT-IV
ogipT AMP—3 (AS-3) & TeH # bg varg faaxor
# 9 TPR B feamsi & e YaE o 0 @
foaR & we iR 15
Explain in detail the calculation of cash flow from
three types of activities in cash flow statement
with reference to AS-3.
31gar OR

ot fo1. & =1 3iipel ¥ Bug 8@ faaRor GuR
PifsTe :
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(6)
31.3.18 31.3.19
3 3

ADHS 8,344 4,652
MRS I 12,650 18,170
3RIe #OT 9. 1,750 1,860
ARG LD 23,875 24,640
WA 17,500 12,000
TH 19,000 11,500
P W drad g 4,500 3,000
ARG T 22,122 19,280
g 50,000 50,000
yienRa ey (+)2,997 (-)3,178

2018-19 H 5,000 3. &1 el fear mr g1 BAR
W g 1,200 3. o7 3 Gufd @rd § »iee foar mn

arl
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(7)

Prepare a funds flow statement from

following data of Ajanta Ltd. :

Cash

Trade receivable

Bad debts provision

Stock

Furniture

Truck

Accu. dep. on truck

Trade payables

Capital

Retained earnings

1-1218

31.3.18 31.3.19

8,344

12,650

1,750

23,875

17,500

19,000

4,500

22,122

50,000

(+)2,997

4,652

18,170

1,860

24,640

12,000

11,500

3,000

19,280

50,000

(-)3,178

PITIOI

the

(8)
A dividend of ¥ 5,000 was paid in 2018-19.

Depreciation on furniture amounted to ¥ 1,200. It

was credited to asset account.

gBR-V / UNIT-V
Q. 5. &g AN 3ipd B fowaR ¥ wwHR| 15
Explain “Target costing” in detail.
3@t OR
VSEDT faded T & ? g9d Ufshar, pfd v &
o oo @il
What is meant by ‘Managerial Reporting’ ?
Discuss its process, nature and scope.
—
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